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STANDARDS
FOR TEACHERS ¢ CRAFTSMEN,

We explained already our point of view (MW 24) where tea-
chers of handweaving are concerned, and we shall return to this
problem presently. But why do we bother with craftsmen who are not
teachers?

The answer is that there are many craftsmen who after years
of study and work would not mind to have some sign of recognition
of their skill cominz from a more or less objective source. The
exhibitions are not always the answer, because each exhibition has
a different standard for judging, and the jury is often biased by the
local likes and dislikes, so that to get the first price in one place
you have to send an article in blue overshot, when another jury pre-
fers coprer on nylon in "texture'", Thus one may collect egsily
several prizes in one locality, being completely ignored at the same
time in another one.

Therefore an objective national jury, not influenced by pcr-
sonal prejudices would be an ideal answer to this problem. Instead
of boasting that I got three first orizes in Smallpox Creek, I could
show a diploma from the "Guild of North America's Weavers' stating
that I am ancd advanced weaver, or if you prefer the traditional
language ~ a "Journeyman", or an "Apprentice', or a "Junior Master',
or whatever it is. '

A Guild of American Weavers may be a dream of the future,
but there is no reason why all existing Guilds could not accept the
same stancards for their members, And of course the same standards
would go for the teachers as well. The latter would require an
additional test of their ability to teach.

The idea is to become first a member of a guild, and then
to send samples of one's weaving to a special committee, which will
decide to what category the new member will belong.

Should the idea be adopted on a national scale, here are our
suggestions as to the requirements for the different stages of the
mambership. One starts of course as a plain member of the guild.

We may call him a "candidate'. If he wants to become an Apprentice,
he has to prove to the guild, that he can:
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1. Weave a sample of plain tabby in any yarn, with good
edges, even beating, and proper sett of warp to get a 50:50
fabric. Use different colours for warp and weft.

2. Make a sampler on plain threading (1234) and a stan-
dard tie-up with the following samples: tabby, 2:2 basket,
RH twill, LH twill, wave (123432), stockinet (1232), dornick in
weft (123412432143), brocken twill, any fancy twill (e.g.:
121314), mixed twill and tabby (e.g.: 1A2B4A3B), Yarn suitable
for yardage of nay kind. Samples at least 3" by 127,

3., Weave a sample of traditional overshot woven as
drawn-in.,

L, Weave a sample of inlay in any technique.

5. Describe step by step any method of warping.

6. Make a draw-down on graph paper of any traditional
draft with at least 30 warp ends and 30 picks of weit.

Journeyman (advanced weaver):

1. Weave a sample in any simple weave (tabby, basket,
brocken twill) using at least two different yarns both in warp
and weft, Explain in a note the reason for your choice of yarns.

2. Weave an article in single linen in Bronson (spot,
or Lace,), Barley Corn, Swedish Lace, or M's-&-O's.,

3. Weave at least 3 yds of wool in any weave.

L, Weave one article in warp-face effect in any weave.

5. Make a sampler in overshot with all traditional
variations: as drawn in, two roses, three different borders
for place mats in any treadling, italian overshot, one shuttle
overshot (the same yarn for warp, pattern and binder).

6. Describe the following weaves: crackle, summer-and-
winter, Bronson, M's~&-0's, Huckaback, Waffle. Give in each
case complete data for one project (draft, draw-down, yarn to
be used, sett of warp, finishing).

Junior Master,

1. Weave an article with a 3D effect, not in any tradi-
tional weave, which gives this effect. Use different counts of
yarn, novelty yarns, or any other methods to obtain the irregu-
larity of texture,

2. Weave an article in turned twill (6 to 10 frames),

3. Weave an article in double weave (& frames).

L. Weave a sample of fine fabric in any varn and any
weave with at least 48 ends and 48 picks per inch.

5. Make a sample of tapestry (flat) or of a knotted
pile rug with your own pattern.

6. Describe the following weaves: doup leno (gauze ,
corduroy, warp pile (velvet), crepe, dropped tabby, Give i.
each case compiete data for one project.

7. Describe 5 different free techniques (inlay, lace,
tapestry).

8. Make analysis of three samples (complete data).

Senior Master.

1., Make a saimple from your own draft for effects in
texture and colour. Explain steps taken in designing the sample,
2. Weave an article in ssztin or in true damask.
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3. Make a rug niot less than 30" by 45" in chenille, with
a pattern of your own design.,

L, Make samples (12 by 12") in any weave of the coarsest
and finest yarns available: in cotton, wool, linen, silk, metal
(or imitations), and synthetic yarns. E.g. one sample in cotton
No.2/hk, and one in No.30; linen No.l%, and No.50/2, etc. At least
one sample must have 80 or more warp ends oer inch.

5. Describe the following techniques: double harness,
draw-loom, net weaves, lappet, tissue weaves - from the point of
view of a hand-weaver.

6. Describe your own weaving technique, improvement of
an old one, or adaptation of a power-weaving method to handweaving.
Give the history of the method, detailed instructions and samples.

7. Analise a sample of traditional multi-harness or
draw-loom weaving. Complete data.

8. Write an essay on designing as applied to modern
handweaving; give the historical background; explain the present
trends (social, economical, and psychological factors).

Unless otherwise specified all samples must be at least
12 by 18 inches. The same sample may be used any number of time..
For instance No.l apprentice may be used again for No.3 journc -
man, No.4 junior master, and No.4 senior master.

The candidate must start with the -rade of an apprentice
regardless of his professional standing, but he may seand at the
same time samples and papers covering several crades.

The above requirements are of course just suggestions
open to discussien and criticism. But in our opinion they are the
lowest possible. More free techniques, more texture weaves can be
added, but we must always oear in mind that the tests should not
take too much time (in weaving), and that they should not be too
expensive, Thercfore the samplcs do not need to be very large,
and if more material for exaumination is included there should be
a possibility of selecting it.

The jury. Once we have a dozen or so of Masters this
problem will be easy to solve. Until then the jury must be elected
by all the members of a Guild. It should never be nominated by
the officers of the Guild. The decision of the jury is final,
until we have a national or an international zuild, to whom the
candidate could appeal.

In our opinion the members of the jury, whenever possible,
should be selected from the outside. The juryman should judge the
entries (which of course must be anonymous) independently from
other members of the jury, i.e. he must not be aware of the pre-
vious marks the candidate has obtained. The number of the jurors
should be three or more. The jurors in the future must have a
higher degree than the candidate, but in the initial stages the
vote of the members of a guild will be a sufficient proof of
their competence.

% % ok ok %k %k k Kk Kk ¥k
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MUILTH- BLOCK
TURNED SWIVEIL

We have explained the principle of the Turned Swivel in MW,
No.16, page 10. Therefore we are not going to repeat the theory of the
weave, advising however the reader to have a look at the article in
question.

The first problem in multi-bleck weaviny is to establish the
number of blocks in our project, and then figure out the number of
harness-frames needed. Here each different vertical line, as well as
each different horizontal line count as a block. If two horizontal
lines overlap one another - it is another block. If there is plain
ground such as borders in tabby or spaces between figures in the ver-
tical direction, this counts as a block alsc. To the total numbe:r of

blocks we add one, and this gives us the number of frames.

For instance @in fig.l (page 5) we have two different vertical
lines (1 and 2), and two horizontal ones (a and b). Besides these we
have plain zround all around the woven piece, This makes 5 blocks in
all (2+2+1), and therefore it can be woven on 6 frames.

In fig.2 there are 3 vertical blocks (each of them of two
lines), and 3 horizontal ones, But there is also tabby ground around
the borders and between the figures. Thus we have: 3+3+1 = 7 blocks,
and they can be woven on 8 frames.

Fig.3 presents a new problem, There are two vertical lines,
and two horizontal ones; no ground. Then &4 blocks so far. But what
abowyt the solid squares "a' and "b"? Are they vertical or horizontal?
They could be made both ways i.e. the colour could be either in warp
or weft, but it is much more convenient to weave them in weft. Since
a square or a rectangle in swivel is nothing else but a repetition
of a line, then we shall have not 2 but & horizontal lines and two
vertical or 6 blocks, which require 7 frames,

So far our patterns had only independent lines, i.e. two
lines going in the same direc-tion did not overlap each other., But
in fig.4 the blocks in weft overlap from "a' to "b", and the blocks
in warp overlap from *c" to "d"., What does this mean? Unfortunately
it means an additional frame for the overlapping in weft, and an
additional treadle for the overlapping in warp. The tolal number of
blocks is: 2 lines in weft + 2 squares (also in weft) + 2 vertical
lines + 1 overlapping + 1 ground = 8 blocks, or 9 frames,

Fig.5 has "only" two squares and two lines, but since tlie
sides of the squares are made in a different colour than the squcre
itself, we must count: 2 vertical lines, and 2 horizontal ones,
plus 2 horizontal ones to make the squares, plus ground = 7 blocks
in all, or 8 frames.If we eliminate the projections at each corner
of the squares, the pattern can be woven on 6 frames.

Finally fig.6 has 3 vertical and 3 horizontal lines, which
gives us 6 blocks, but there are two overlappings, and cne block for
the ground which makes in all 9 blocks or 1O frames.

The above examples should have convinced us that the apparent
simplicity or complexity of a pattern is very misleading. Fig.6 looks
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simpler than fig.l, but it requires 4 frames more.

Therefore, unless one wants to remember the rules about the
number of vertical, plus the number of horizontal, plus overlappings,
plus ground, plus one ~ the best way is to analise the pattern as
explained in MW 3, page 1, or Vol.2 page 4. But it will help us here
if in the profile we shall use a differentsymbol for the vertical
lines since they contain only one thread, and not a whole unit of
the weave. For instance the profile for the pattern in fig,l will
be as in fig.7, and it may be rearranged as in fig.8 to make it more
practical for actual threading.

o o o o
) Fig.? mmmm Fig.8

mmmmo mmmmn mmmm mmmm
mmm mmm mmm mmm

The threading draft developped from fig.8 will be then:

e | ST ———

Txxxxx °8°088
T X X X X X! 11X X X x X | I 809°8
WX X X X X o ; WX X X X Xi o 0 O
EXXXXHX XXX (X XXXXIRXXXXXKAXK | 0
L 3x | bx b hx i Lx i 3x | 654321

The most difficult part of the draft is the tie-up. To find
it we must take into consideration all elements of the woven piece
one after another. Thus we start with plain tabby in the ground
(A, fig.1l), but the coloured warp ends are not woven = they should
remain underneath or on top of the fabric, whichever we like better,
Let us suppose that all the floats in warp and weft will be left on
top, and that we have a rising shed loom., Then our first tabby
treadle (no.6 in the draft above) will be tied to frames: 1,5,6;
and the second to: 2,3,4,5,6.

Then comes part B, It contains one shot of colour and tw-
of tabby, The colour must correspond to the second line of the pro-
file (frame No.3). Thus the pattern treadle (No.4) will be tied to
the frames: 3,5,6, and the tabby treadles as before.

In part C we have tabby, but the colours in warp threaded on
frame No.5 will weave also, The corresponding treadle Mo.3 will be
tied to frames: 2,3,4,6, and used alternately with treadle No.6.

Part D has again only one shot of pattern weft, this time
on frame 4. Then the treadle (No.2) must be tied to frames: 4,5,6.
Tabby as in part B.

Part E is tabby with vertical line in colour on frame 6,
Thus the treadle (NO,1) will be tied to frames: 2,3%,4,5, and used
alternately with treadle No.6y

F is the same as By G - the same as C; and H - the same as A.

The treadling is easy once the tie-up is figured out:
A) 6,5 - 15 times; B) 4,6,5 - once; C) 6,3 - 20 times; D) 2,6,5 -
once; E) 6,1 - 20 times; F) 4,6,5 - once; G) 6,3 - 20 times,
H) 6,5 ~ 15 times. The shots of weft which are underscored are in
colour,

By the way, the sample will be rather small. To make it more
practical in size we would have to double the number of warp-ends,
and of picks of weft. As it is it is ideal for a smaple loom.
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When figuring out the tie-up it is very important to realise
which frames are rising and which are sinking in any particular shed.
If in doubt the best thing is to experiment on a sample loom.

In the same way as described before, we shall find now the
draft for the pattern in fig.2. First the profile:

70 o
. éo o
*0 0 ‘mm m mm
Smm m mm
imm m mm
1m m mm
Draft and tle-up
A e N B
i | | ! ! !
I e |xxixxixx | °8a°8°88
EEIEL IR P el e MU oo 88087
Fxnﬁx x| K x L&Mﬁhg%gfwmx l& x {k x X% X X X X - x hxl o%% % °
by [ b 71 2x (B Uhx | bx r2x | bx | 2x | Uz l2xy, x| bx] 87654321
Treadling:

8,7 -~ 8x; 8,6 - 8x; 5,8,7 - once; 8,6 - bx; 5,8,7 - once; 8,6 - 8x;
8,7 « bx: 8,4 - 8x; 3,8,7 - once; 8,4 - 4x; 3,8,7 - once; 8,4 - 8x;
8,7 - bx; 8,2 - 8x; 1,8,7 - once; 8,2 - Ux; 1,8,7 - once; 8,2 - 8x:
8,7 - Bx.

We shall take just one more example: the pattern on fig 3.
Preofile:

4]
or .
« mm
. 3 mm mm
2 mmmm
mmmm mmmm
Draft X R B P B A -T-1- T3 T
§ ‘Or { ! 0 00000
; | X X X i o 000
i X X x X x % ﬂ o 0606
X X_X ﬂ‘ xx X X& x_x . | 88°8
Lx X X X ;x X x x x X X X x x%x X x ;_]bc__";c,, XXl 0o "~ " .
P 8x 8x | 1 hx 7654321

H i '

Treadling:
76-32x,576-once,l+76-32x 7,6 - 32x; 7,3 - 16x.
2,73 - 16x; 1,7,3 - once; 7,3 - 16x.

Since two colours are used here, treadles 1l and 5 will carry
one of them (the darker), and treadles 2 and 4 < the other,

The above examples should be sufficient as an illustration of
the method of finding out the tie-up and treadling. To understand
them better, either small samples should be made, or a full scale
draw-down on graph paper.

When making samples one should not limit oneself to the given
treadling, but experiment as much as possible with 211 imaginable
combinations of frames, The potentialities of multi-block turned
swivel are quite high, and it would take a lifetime to explore all
patterns which could be woven on one 8-frame threading.

- - -



-8 -

Turned swivcl may be very easily adapted to three-dimmensional
weaving. All we have to do, is to replace the colours by very heavy
varn. In such a case patterns similar to figs: 3,4 and 5 should be
avoided, because repeated shots of a very heavy weft would distort
the texture of the fabric. The best are ‘‘crazy patterns’ as in fig.9
(page 5). Such a pattern is quite easy to design, but one must be
careful not to get involved into a too high number of frames. The
pattern in fig.9 shows two repeats both in threading and treadling,
and of course both will be repeated many more times in a practical
project. The profile of this pattern is:

o ﬂf e e g g e — \ S
: ‘ i lq o P ; L 0.0 ¢ 06u

I [ | H 000 O 0o
, o ; i L X x X XXX 0 0000 0
| | ; 3 PiX X X | 0 660000
o xXERIEERxxxixx g XN 3333588
XK K X XK X x@-g.c x x|k xx xxxzxxx|xxxi o°°°°
I 5x Sx {.15x !} S5x ;' S5x 1:10x I5x ! 5x 987654321

Treadllng 9,8 - BOx, 749, 8 - once; 9,8 - 15x; 9,6 - 15x; 5,9,6 =
once; 9,6 - 15x; 9,4 - 15x; 9,3 - 30x; 2,9,3 - once; 9,3 - 15x;
2:9,3 - once; 9,2 - 15x; 9,1 - 15x,

The contrast between let us say 16/2 cotton and candlewick
may be not sufficient, We may try rug filler (e.g. 3 ply 1%). The
colour of the heavy weft may be different from the ground, and several
colours can ve used, but the ground cannot be woven in stripes or
squares., Colour patterns always kill the texture effect.

The technical difficulties of swivel weaving have been already
described (MW 1/6, 5/5, ?7/6, 11/5, 15/8 and 16/10) and we are not
going to discuss them again. In the 3D weavinz there is only one
additional problem: how to thread and sley very heavy yarn? In threa-
ding cord heddles should be used for heavy warp ends., They can be
tied on the loom exactly in the same way as correcting heddles.

As far as the reed is concerned we must use very low numbers (e.g.

No.8 reed for 32 ends per inch). We may also use a finer reed and
slightly open the dents which carry heavy yarn, but it may be difficult
to straighten them out later on

What is very important in case of turned swivel whether plain
or 3D, is the sleying. The natural tendency is to leave more space
in the reed for the heavy yarn, when actually we do not leave anj
space at all. The ground warp should be sleyed evenly, 2, 3, or 4+
ends per dent, and the colour or heavy ends added in the same cents
which already carry the ground. Ctherwise we would have empty spac<s
whenever a block of pattern in warp is not woven.

& Kok k ok ok Ak %k %



PROBLEMS IN TEACHING LESSON 12

DRATF THING.

Variations_of 3-block patterns.

There is only one weave for 4 frames which can give all the
variations of a three~block pattern, This is swivel., It may produce
as many as 64 different symmetrical patterns on the same threading.
But since we discuss here the variations of a pattern, and not the
wezave, therefore whatever zoes for swivel on L frames, will go also
for Bronson lace on 5, suumer-and-winter on 5, huckaback (plain or
lace) on 8, dropped tabdy (MW 10/3) on 8, turned 1:2 twill on 9,
dornick on 12, double weave on 12, and damask on 15 to 24,

To show all these variations we had to use the simplest
possible profile with only one square in each block (fig.l).
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Fig.l

But the number of variations is independent from the profile as long
as it has the same number of blocks (horizontal lines in the profile).



- 10 =

Regardless of how involved the draft is, the number of variations is
always 8 for two blocks, 64 for three, and 1024 for four blocks.

Ii the ground is present as for instance tabby in lace, it may make
the pattern more interesting or more practical even, but the number
remains the sane,

There is one apparent exception. Such weaves as summer-and--
winter, turned twills and damasks produce at the same time two patterns
- one on each side. For instance when we weave variation PF, we shall
have 6H also. Therefore we need only 32 samples to et all the patterns,

To find all variations with a 3 block profile, we start by
meking the 8 variations of the two central blocks (first row of fig.l).
We include here both cases: when there is no pattern whatsoever (1H),
and when the two blocks form one solid square (1G). By the way: these
two cases may be impractical in pattern weaving, but they may be of
some interest when only the texture is concerned,

These 8 initial variations will be repeated in the center
of all figures which follow., Thus: all figures in column A have the
same center, and the same happens in all other columns., But in each
row they will be surrounded by a different combination of blocke:
in the second row we use block No.l; in the third - block No.2;
in the 4-th - No.3; in the 5-th No.l and 2; in the 6-th - 2 and 3,
in the 7~th - 1 and 3; in the 8-th - 1,2, and 3.

But if we simply added these blocks in the first and last
line of each variations, some of the patterns would be not symmetrical.
Therefore what takes place in those two horizontal lines, must be
faithfully repeated in the first and the last vertical line of each
pattern. Column H in fig.l shows how this is done. There is nothing
in the center, and only surrounding blocks are shown. Thus in 2H we
have block No.l in the corners. In 3H we have block 2 in the 1lst and
the 5tk line, but to compensate for this addition, we must also use
block 1 in lines 2 and 4, In 4H we have block 3 in the center of the
first and the last line - therefore we use block No,l in the 3rd line,
And so on. All other variations from 2 to 8, and from A to G are
obtained by adding or superimposing one figure from the first row,
to one figure from the last column,

As a practical example let us take the profile in fig.2,

and make the variation 5F.In the first line
we have replaced the ground by a combination
of blocks 1 and 2. The second line (taken
twice according to the profile) is composed

mm mm
mm mmm mm
m m m m

1] N

M A of blocks 2 and 3., But to make the pattern

il i . T
mmm  ng I symmetrical we add also block Ho.l (because
nm STl Jitis . . .
mom oo Do ;i block 2 was used in the first line). Then
Laat e I ALE s Ineh » ” . .
L A A comes the repetition of the first line.

i 4380 JITHIS] .

il 21 L Then block 2 alone, twice. After that: 2 and
mom O e 3 with the addition of 1 for symmetry's sa.e,.
mmmumannmnmnnm m w i i “sed.
MmN m From now on the pattern is simply reversed

Fig.2 We realise that the process is not clear
as yet, and we shall return to it in the
following (and last) lesson about the variations of patterns.



- 1l]l -

CRACIKILE ¢ TWILL

There are weaves which can be mixed in the same draft, and
there are other weaves which should not. The general rule is, that
two weaves which produce about the same structure of the fabric can
be used together. For instance: summer-and-winter and crackle (they
are nearly the same weave), plain overshot and overshot on opposites,
3ronson lace and spot, Bronson lace and barley corn, diamond twill
and summer-and-winter, and finally crackle and diamond twill.

But why should we mix two differeat weaves in the same draft?
The answer is that there are certain patterns which cannot be woven
in any cther way for one reason or another. For instance many tra-
ditional patterns originally woven in overshot cannot be used Tur
upholstery, table linen and so on, because they have too long i .ocacs.
When they are transcribed entirely into crackle, the floats are short,
but the pattern becomes too large (usually four times as large as
the original). When we try to reduce the pattera to a more reasonable
size, we find out that we must either distort the design or weave
a part of the draft in diamond twill instead of crackle. This is
because the smallest possible block of pattern in crackle is 5
(one unit of four plus one incidental), and it cannot be subdivided.

The need of replacing one part of the draft with twill is
still more obvious when we draw so called miniature patterns, which
may be reduced irom traditional ones, or of an original design.

In all such cases diamond twill will be used for drawing the small
blocks of the pattern and crackle for the large ones. Twill blends
with crackle very easily since both have the same length of floats

(2 and 3) and the demarcation line between the two does not show in
weaving. Fig.l shows a draft written in twill from a to b, and from

¢ to d, and in crackle
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b X X X X X X X X X
x - X _— X % X % x x x xxx xxx xx xxx xxx X X xx xx reverse.
X X X X X X XX X X X X X X X

Fig.2 8

The tie-up here is the same as in fig.l. The treadling should
be: 234123443214321441140411433443344322332233211221122143214321 and
reverse. It must be remembered that in reversing the threading draft
the central heddle (marke "o") is not repeated, but in treadling
we do repeat the last treadle,

Another draft of this kind is shown in fig.3:

XX X x X X X X X X X X 00 0
Xxx Xxx XXX XXX xx X x xxx xxx xx X X xx Xx 080 OO
X X X X X X X X X X X X X 0 00

This draft is not symmetrical and the threading shows one repeat.
The treadling is:

Lz214321433403344301122112214330443344321122112214321432].
A practical project:

Table cloth 45 x 72. Warp: 10/2 white cotton, 24 ends/".
1080 ends. Weft: 10/2 ivory cotton; binder 20/2 white cotton.

x. k. ox x X XX XX XX _¥x x Ix |

Txo Ixo Txo o oxT o x. o ox. x.  xT TxT TxT Txt o xT Tx. Tx Px i

x 1 7x Tx x¥ xx xTx xx x x v x| xﬁ

X “x Tz x Tx° "x x0T oz x x x x “x !

10X | o 20x > 10x
Fig.k

The tie-up as in fig.l or 3. The treadling:

2341 - 10x; 23412344321433443344334432112211221122143211234234) -
as many times as necessary to make the whole length; 2341 - 10x.

The weaving may be easier if instead of 20/2 cotton, we shall use
for binder single linen No.25.

One must remember that, when weaving rather involved patterns
in twill and cracikle, mistakes are easy to make and difficult to
detect, But they show very well when the piece is finished and ironed.
To avoid them, we may write down the whole treadling of one repeat
with binder, e.g.: 2A3B4A1B... and so on. Never stop weaving except
at the end of a repeat. In case of emergency (broken warp end etc)
mark the place on the treadling draft. At the end of each repeat
check it carefully in oblique light (stronsz flashlight)., Avoid strong
light during weaving. It is worse than useless, because nobody can
focus the eyes on a small pattern for hours anyhow, and the eyes
tired by the constant glare do not see the mistakes any more.
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